| CADDO PARISH | PLANT ENTERPRISES PRODUCTION |
|--------------|------------------------------|
| enero maion | TENT ENTERN RISES TRODUCTION |

| | Number of | | Yield per | Total | Units of | Gross Farm |
|------------------------------|-----------|----------|-----------|------------|-----------------|--------------|
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| COTTON | | | | | | |
| Lint - Irrigated (Total) | | 8,000.0 | 1,250.00 | 10,000,000 | lbs. | \$4,816,000 |
| Lint - Non-irrigated (Total) | | 14,000.0 | 1,000.00 | 14,000,000 | lbs. | \$6,742,400 |
| Seed - Irrigated (Total) | | 8,000.0 | 2,000.00 | 16,000,000 | lbs. | \$771,200 |
| Seed - Non-irrigated (Total) | | 14,000.0 | 1,600.00 | 22,400,000 | lbs. | \$1,079,680 |
| Cotton (Total) | 18 | 22,000.0 | | | | \$13,409,280 |
| FORESTRY | | • | | | | |
| Pulpwood | | | | | | |
| Pine | | | | 46,862 | cords | |
| Hardwood | | | | 40,140 | cords | |
| Pulpwood (Total) | | | | 87,002 | | |
| Chip & Saw (Total) | | | | 351 | cords | |
| Saw Timber | | | | | | |
| Pine | | | | 26,590,756 | board feet | |
| Hardwood | | | | 1,795,465 | board feet | |
| Saw Timber (Total) | | | | 28,386,221 | | |
| Total Pulpwood, Chip & Saw, | | | | | | \$21,852,125 |
| Saw Timber FOB Mill | | | | | | |
| Total Forestry Stumpage | | | | | | \$12,343,428 |
| (Total) | | | | | | |
| Christmas Trees (Total) | 7 | | | 1,200 | trees | \$48,000 |
| Pine Straw (Total) | * | | | 250 | bales (40 lbs.) | \$500 |
| Forestry (Total) | | | | | , , , | \$21,900,625 |
| FRUITS | | | | | | |
| Blueberries (Total) | 8 | 12.0 | 2,850.00 | 34,200 | lbs. | \$66,690 |
| Mayhaws | | | | | | |
| Orchard | * | 6.0 | 210.00 | 1,260 | lbs. | \$1,638 |
| Mayhaws (Total) | | 6.0 | | | | \$1,638 |
| Muscadines | | | | | | |
| Fresh | 6 | 22.0 | 1,050.00 | 23,100 | gals | \$184,800 |
| Muscadines (Total) | | 22.0 | | | | \$184,800 |
| CADDO PARISH | | | | | | ŕ |
| CADDOTAMON | | | | | | |

CADDO PARISH

PLANT ENTERPRISES PRODUCTION

| | Number of | | Yield per | | Total | Units of | Gross Farm |
|-------------------------------|-----------|----------|-----------|-----------------|------------|-----------------|-------------|
| Crop | Producers | Acres | Acre | | Production | Measure | Value |
| FRUITS | | | | | | | |
| Peaches (Total) | * | 14.0 | 150.00 | | 2,100 | bu. | \$84,000 |
| Fruits (Total) | | 54.0 | | | | | \$337,128 |
| FEED GRAINS | | | | | | | |
| Corn (Total) | 30 | 12,700.0 | 120.00 | | 1,524,000 | bu. | \$4,038,600 |
| Feed Grains (Total) | | 12,700.0 | | | | | \$4,038,600 |
| GREENHOUSE VEGETABLES | | | | | | | |
| Tomatoes (Total) | * | 43,200.0 | 5.50 | Yield / sq. ft. | 237,600 | lbs. | \$320,760 |
| Greenhouse Vegetables (Total) | | 43,200.0 | | | | | \$320,760 |
| HAY FOR SALE | | | | | | | |
| Alfalfa (Total) | * | 100.0 | 5.00 | | 500 | tons | \$54,285 |
| Grass (Total) | 40 | 12,000.0 | 2.50 | | 30,000 | tons | \$2,772,000 |
| Hay for Sale (Total) | | 12,100.0 | | | | | \$2,826,285 |
| Home Gardens (Total) | 23,000 | | | | | | \$4,600,000 |
| NURSERY CROPS | | | | | | | |
| Floraculture & Bedding | 10 | | | | | acre | \$125,000 |
| Plants (Total) | | | | | | | |
| Woody Ornamentals (Total) | * | | | | | acre | \$20,000 |
| Foliage Plants (Total) | 10 | | | | | acre | \$20,000 |
| Nursery Crops (Total) | | | | | | | \$165,000 |
| PECANS | | | | | | | |
| Improved (Total) | 8 | 700.0 | 520.00 | | 364,000 | lbs. | \$473,200 |
| Native (Total) | 75 | 870.0 | 500.00 | | 435,000 | lbs. | \$413,250 |
| Pecans (Total) | | 1,570.0 | | | | | \$886,450 |
| Sod Production (Total) | * | 160.0 | | | | acre | \$800,000 |
| Soybeans (Total) | 17 | 5,500.0 | 30.00 | | 165,000 | bu. | \$966,240 |
| VEGETABLES | | | | | | | |
| Cabbage | | | | | | | |
| Fresh | 8 | 3.0 | 600.00 | | 1,800 | sacks (50 lbs.) | \$16,200 |
| Cabbage (Total) | | 3.0 | | | | | \$16,200 |

| VEGETABLES | | | | | | |
|-------------------------------|--------|------------|------------------|--------------|-----------------|--------------|
| Collards | | | | | | |
| Fresh | 10 | 2.0 | 600.00 | 1,200 | doz. bunches | \$8,400 |
| Collards (Total) | | 2.0 | | | | \$8,400 |
| Eggplant (Total) | 20 | 20.0 | 450.00 | 9,000 | bu. (33 lbs.) | \$180,000 |
| Irish Potatoes | | | | | | |
| Fresh | 30 | 30.0 | 130.00 | 3,900 | cwt. | \$136,500 |
| Irish Potatoes (Total) | | 30.0 | | | | \$136,500 |
| Mustard (Fresh) (Total) | 15 | 90.0 | 600.00 | 54,000 | doz. bunches | \$378,000 |
| Okra (Fresh) (Total) | 25 | 10.0 | 600.00 | 6,000 | bu. | \$180,000 |
| Peppers | | | | | | |
| Banana | 7 | 1.0 | 275.00 | 275 | bu. (25 lb.) | \$4,125 |
| Bell | 9 | 3.0 | 575.00 | 1,725 | bu. (28 lb.) | \$34,500 |
| Peppers (Total) | | 4.0 | | | | \$38,625 |
| Snap Beans (Fresh) (Total) | 8 | 8.0 | 120.00 | 960 | bu. (30 lbs.) | \$28,800 |
| Southern Peas (Fresh) (Total) | 10 | 85.0 | 115.00 | 9,775 | bu. (24 lbs.) | \$244,375 |
| Squash (Fresh) | | | | | | |
| Yellow Squash | 10 | 7.0 | 170.00 | 1,190 | bu. (45 lbs.) | \$26,775 |
| Squash (Fresh) (Total) | | 7.0 | | | | \$26,775 |
| Sweet Corn (Fresh) (Total) | 15 | 30.0 | 900.00 | 27,000 | doz. ears | \$94,500 |
| Tomatoes (Field) (Total) | 10 | 19.0 | 1,200.00 | 22,800 | lugs (20 lbs.) | \$456,000 |
| Tomatoes (Green Mature) | * | 4.0 | 1,200.00 | 4,800 | boxes (25 lbs.) | \$60,000 |
| (Total) | | | | | | |
| Turnips (Fresh) (Total) | 16 | 60.0 | 800.00 | 48,000 | doz. bunches | \$336,000 |
| Watermelon (Total) | * | 25.0 | 220.00 | 5,500 | cwt. | \$44,000 |
| Vegetables (Total) | | 397.0 | | | | \$2,228,175 |
| Wheat (Total) | 6 | 1,856.0 | 50.00 | 92,800 | bu. | \$372,453 |
| TOTAL ALL PLANT ENTERPRISES | | | | | | \$52,850,996 |
| | FISHER | IFS & WILD | LIFE ENTERPRISES | S PRODUCTION | | |

| FISHERIES & WILDLIFE ENTERPRISES PRODUCTION | | | | | |
|---|---------------------|---------------------|---------------------|---------------------|---------------------|
| Fisheries | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
| AQUACULTURE | | | | | |
| Crawfish (Farm) (Total) | 10 | 600 Acres in Prod. | 220,000 | lbs. | \$264,000 |
| Catfish (Farm) (Total) | * | 18 Acres in Prod. | 100,000 | lbs. | \$77,000 |
| CADDO PARISH | | | | | |

CADDO PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

| | Number of | Units of | | Total | Units of | Gross Farm |
|------------------------------|--------------------|------------|----------------|------------|----------|-------------|
| Fisheries | Producers | Production | | Production | Measure | Value |
| AQUACULTURE | | | | | | |
| Minnows (Total) | * | 5 | Acres in Prod. | 2,500 | lbs. | \$8,500 |
| Fish bait (Total) | * | | | 24,000 | lbs | \$168,000 |
| Other Species (Total) | * | 40 | Acres in Prod. | 28,000 | lbs. | |
| Aquaculture (Total) | | | | | | \$517,500 |
| FRESHWATER FISHERIES | | | | | | |
| Freshwater Finfish (Total) | 15 | | | 82,414 | lbs. | \$34,919 |
| Freshwater Fisheries (Total) | | | | | | \$34,919 |
| Fur Animals (Total) | | | | 212 | pelts | \$4,198 |
| Alligators (Wild) (Total) | | | | 120 | ft. | \$3,000 |
| HUNTING LEASES | | | | | | |
| Waterfowl (Total) | 50 | 6,500 | No. Acres | | acre | \$325,000 |
| | | | Leased | | | |
| All Other Game (Total) | 60 | 18,000 | No. Acres | | acre | \$126,000 |
| | | | Leased | | | |
| Hunting Leases (Total) | | | | | | \$451,000 |
| Honey (Total) | 12 | 60 | No. Hives | 8,300 | lbs. | \$7,470 |
| TOTAL ALL FISHERIES & WI | LDLIFE ENTERPRISES | | | | | \$1,018,086 |

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Units of Gross Farm Number of Total Units of Animal Producers Production Value Production Measure CATTLE & CALVES Steer Calves 2,500 head \$1,242,763 300-400 lbs. \$2,788,875 5,000 head 400-500 lbs. 500-600 lbs. 2,000 head \$1,224,410 600-700 lbs. 1,200 head \$824,850

| CATTLE & CALVES | | | | |
|---------------------------|-----|--------|---------------------|----------------------|
| Steer Calves (Total) | | | | \$6,080,898 |
| Heifer Calves | | | | |
| 300-400 lbs. | | | 2,500 | head \$1,103,638 |
| 400-500 lbs. | | | 5,000 | head \$2,608,875 |
| 500-600 lbs. | | | 1,250 | head \$722,631 |
| 600-700 lbs. | | | 1,000 | head \$666,120 |
| Heifer Calves (Total) | | | | \$5,101,264 |
| Yearling Cattle | | | | |
| 600-700 lbs. | | | 600 | head \$389,805 |
| 700-800 lbs. | | | 1,400 | head \$996,975 |
| Yearling Cattle (Total) | | | | \$1,386,780 |
| Cattle & Calves (Total) | 275 | 25,000 | No. Cows | \$12,568,941 |
| HORSES | | | | |
| Brood Mares | | | | |
| Race Horses | 51 | 800 | No. Brood Mares 400 | head \$3,200,000 |
| Show Horses | 75 | 250 | No. Brood Mares 125 | head \$500,000 |
| Recreation Horses | 20 | 100 | No. Brood Mares 50 | head \$75,000 |
| Brood Mares (Total) | | | | \$3,775,000 |
| Stud Fees | | | | |
| Race Horses | | 30 | No. Stallions 250 | mares bred \$625,000 |
| Show Horses | | 12 | No. Stallions 200 | mares bred \$300,000 |
| Recreation Horses | | 25 | No. Stallions 400 | mares bred \$200,000 |
| Stud Fees (Total) | | | | \$1,125,000 |
| Race Horses (Total) | 40 | | 300 | head \$3,600,000 |
| Show Horses (Total) | 100 | | 1,600 | head \$8,000,000 |
| Recreation Horses (Total) | 800 | | 4,000 | head \$6,000,000 |
| Horses (Total) | | | | \$22,500,000 |
| Quail (Total) | * | 1,500 | No. Breed 500 | each \$1,000 |
| | | | Stock | |

CADDO PARISH

CADDO PARISH

ANIMAL ENTERPRISES PRODUCTION

| Animal | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
|---------------------------|---------------------|------------------------|------------------|---------------------|---------------------|
| SHEEP | | | | | |
| Slaughter Lambs (Total) | | | 10 | head | \$1,563 |
| Feeder Lambs (Total) | | | 20 | head | \$1,500 |
| Stocker Sheep (Total) | | | 10 | head | \$750 |
| Cull Sheep (Total) | | | 10 | head | \$500 |
| Sheep (Total) | * | 75 No.Breeding | | | \$4,313 |
| - ' | | Ewes | | | |
| GOATS | | | | | |
| Show Goats (Total) | | | 50 | head | \$12,500 |
| Slaughter Goats (Total) | | | 300 | head | \$37,500 |
| Stocker Goats (Total) | | | 50 | head | \$4,750 |
| Cull Goats (Total) | | | 50 | head | \$3,250 |
| Goats (Total) | 35 | 700 No. Does | | | \$58,000 |
| SWINE | | | | | |
| Show Pigs (Total) | | | 20 | head | \$5,600 |
| Feeder Pigs (Total) | | | 40 | head | \$1,200 |
| Slaughter Hogs (Total) | | | 20 | head | \$2,404 |
| Culls (Total) | | | 10 | head | \$1,600 |
| Swine (Total) | 8 | 40 No. Sows | | | \$10,804 |
| EXOTIC ANIMALS | | | | | |
| Deer/Antelope (Total) | * | 20 No. Animals | 10 | head | \$1,300 |
| Exotic Animals (Total) | | | | | \$1,300 |
| TOTAL ALL ANIMAL ENTERPRI | ISES | | | | \$35,144,358 |

CADDO PARISH \$89,013,440